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Question Number : 1 Question Id : 347577526 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B Tech 3rd Apr 2025 Shift 1 Domestic
B. Tech

2025-04-03 17:00:06

180

300

Yes

1
3475778

Mathematics Section A

34757743
1

Online
Mandatory
20

20

80

0

1
34757743
Yes

LetA={-3,-2,-1.0,1,2.3}. Let R be a relation on A defined by xRy if and only if

0<x?+2y<4. Letlbethe number of elements in R and m be the minimum number of elements

required to be added in R to make it a reflexive relation. Then /+ m is equal to

Options :
3475771786. 20

3475771787. 17
3475771788, 18

3475771789. 19

Question Number : 1 Question Id : 347577526 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

HFTA = {-3,-2,-1,0, 1,2, 3} 81 AFI Ry UG AR BT TG 0< 1* + 2 <4 & GRI IR
Udh Y4 R §1 AFTR H 3{dgdl 1 AT/ § 3R R &I W™ 914 & U 399 Silg oH drd
AP HdGdl Bl GAdH G m gl dl 7+ m R g

Options :

3475771786. 20

3475771787. 17
3475771788. 18

3475771789. 19

Question Number : 2 Question Id : 347577527 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the domain of the function f(x)=log, [i":j]Jrsin : [i-'_ 31] is [0, B). then o + 4B is equal to
J+4x R g

Options :
3475771790. 3

3475771791, 4
3475771792, 5
3475771793. 7

Question Number : 2 Question Id : 347577527 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A HE £ (x) =10gf,[§i;3J+sin ‘f"‘”-’f] BT [0, B) B, T o + 4p RN &
X i\ X

Options :
3475771790, 3

3475771791, 4
3475771792, 5

3475771793. 7

Question Number : 3 Question Id : 347577528 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a and B be the roots of X~ + V3x-16=0 . and y and o6 be the roots of Z4+3x—1=0. If P =
f

Bs+V3h, . Ors — Ons

< is equal to
25, Ory

0"+ B" and Q,, =y + &, then

Options :



3475771794, 3

3475771795, 4
3475771796. 5

3475771797. 7

Question Number : 3 Question Id : 347577528 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 0+ V316 =0 B Tdl o 3R p & T SN0 o2+ 31 =0 BT y A5
!
B P,=a"+ " 3R @, ="+ 5" C. 1l Bs+43by, | Ohs - O RIS T

25, LY

Options :
3475771794, 3

3475771795, 4
3475771796. 3
3475771797. 7

Question Number : 4 Question Id : 347577529 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
z°+3i
z—2+i

Let z € T be such that = 2 + 3. Then the sum of all possible values of 7 is

Options :
3475771798. 19 — 2i

3475771799, —19 + 2i
3475771800. 19 + 21
3475771801, —19 — 2i

Question Number : 4 Question Id : 347577529 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THlz € :%sﬁwf_f{:gm g1 Tl 2 & |l Wog ol BT 8
Z=L+1
Options :

3475771798. 19 — 2i
3475771799, —19 + 2i

3475771800. 19 + 21



3475771801, —19 — 2i

Question Number : 5 Question Id : 347577530 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let 4 be a matrix of order 3 x 3 and |4| =5. If

2adj(34 c‘n{;’(ZA)H =2%.37 ., a B,y EN,
then o + f + 7 is equal to

Options :

3475771802. 25

-

3475771803, 26

[
|

3475771804.

]
Ga

3475771805.

Question Number : 5 Question Id : 347577530 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT DI 3 x 3 BT YD MG 4 © 3R 14/ =581 MG |2adj (34 adj (24))| =27 -3 -5, 0. B,y €11
S dla+p+y R T

Options :
3475771802, 23

~

I
N

3475771803.

R
e |

3475771804.

[
[ea)

3475771805.

Question Number : 6 Question Id : 347577531 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. : : - 111
Let ay, a;, a3,.... be a G.P. of increasing positive numbers. If aya5=729 and a; + a4 = T

then 24 (ay + @, + a3) is equal to
Options :
3475771806. 128

3475771807. 129
3475771808. 130

3475771809. 131

Question Number : 6 Question Id : 347577531 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



UMl ay, ay, as.... THAM YATHS GO B UD G.P. §1 A aza5=729 MR ay + ay = 1L ¥

4
a1 24 (ay + ay + a3) R G
Options :
3475771806. 128

3475771807. 129
3475771808. 130

3475771809. 131

Question Number : 7 Question Id : 347577532 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thesum 1 +3+ 11 +25+45+ 71 + ... upto 20 terms, is equal to
Options :

3475771810. 6982

3475771811, 7130
3475771812. 7240

3475771813. 8124

Question Number : 7 Question Id : 347577532 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1+3+11425+45+71+... 20UGI b HI AN ¢
Options :

3475771810. 6982

3475771811, 7130
3475771812, 7240

3475771813, 8124

Question Number : 8 Question Id : 347577533 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9 9
r+3 3 -
Ifz .(}C.:a — —ﬂ,a.,ﬁEIT.Then{a—ﬂ}‘Jsequaim
” r

r=I 2 2
Options :
3475771814, 27

3475771815. 18

3475771816. 9



3475771817, 81

Question Number : 8 Question Id : 347577533 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

29

UEZ[*H] e J.=a[%J ~B.0.peN. B dl(a+p? W g
r=1

Options :

3475771814, 27

3475771815, 18
3475771816. 9

3475771817. 81

Question Number : 9 Question Id : 347577534 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The sum of all rational terms in the expansion of {2 + \jj) is

Options :
3475771818, 16923

3475771819. 18817
3475771820. 33845
3475771821, 3763

Question Number : 9 Question Id : 347577534 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(2+3) o TR ¥ Wt o uel o1 A g
Options :

3475771818. 16923

3475771819. 18817
3475771820. 33845

3475771821, 3763

Question Number : 10 Question Id : 347577535 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: ; x _ ax] =
The number of solutions of the equation 2x + 3tanx =1, x e [—2#,3::] {i > £ } 3

Options :



3475771822. 3
3475771823, 4
3475771824. 3
3475771825. 6

Question Number : 10 Question Id : 347577535 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THIERIT 2x + 3tan x = 7. xe[---l?r,l'r]— {iz ,i3;} %ﬁ*ﬁﬁ?ﬂ@ﬂ%

Options :
3475771822, 3

3475771823, 4
3475771824, 3
3475771825. 6

Question Number : 11 Question Id : 347577536 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The radius of the smallest circle which touches the parabolas y = >+2andx= v

72

3475771826, 2

72

3475771827, 16

743

3475771828, 4

72

3475771829. 8

Options :

Question Number : 11 Question Id : 347577536 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RAT] =2 +2 3R x =2 + 2 DI WRI B dlc Y4 DI g & FaT ¢

Options :
72

3475771826, 2



72

3475771827. 16

743

3475771828, 4

72

3475771829. 8

Question Number : 12 Question Id : 347577537 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r 2
A line passing through the point P(JS,JE ) intersects the ellipse Lo - | at 4 and B such that
36 25

(P4)-(PB) is maximum. Then S(P4” + PB?) is equal to :
Options :
3475771830. 218

3475771831, 290
3475771832, 338

3475771833. 377

Question Number : 12 Question Id : 347577537 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g £ (5,V5) TSI arell U T, iegd ;_6+«‘2_5: | B fdg3f 4 3R 3 W Y YHR DIcd!
¢ T (pa).(pB) STUDTH G TN 5 (P42 + PB?) ISR G

Options :

3475771830. 218

3475771831, 290
3475771832, 338

3475771833. 377

Question Number : 13 Question Id : 347577538 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A line passes through the origin and makes equal angles with the positive coordinate axes. It
intersects the linesLy : 2x+y+ 6 =0and L, : 4x + 2y — p =0, p = 0, at the points A and B,

respectively. If AB= 5 and the foot of the perpendicular from the point A on the line L, is M,

AM .
then — 1is equal to
BM



Options :
3475771834,

2

5]

3475771835.

3475771836. 4

n

3475771837.

Question Number : 13 Question Id : 347577538 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 3T Tcfelg U gl Sildl g 3R 41D M el 9 sRIaR SI01 a-1dl g1 I8 ¥ara
Li:2x+y+6=03R1,:4x+2y—p=0,p>0, Dl HA: [dgafl A 3R B W Hedi g1 afe

AB:%%@?%@'A@IWLQU?ETHH)‘IWEM%.??[-EEW%

Options :
3475771834,

2

5]

3475771835.

3475771836. 4

n

3475771837.

Question Number : 14 Question Id : 347577539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Line L4 passes through the point (1, 2, 3) and is parallel to z-axis. Line L, passes through the

point (A, 5, 6) and is parallel to y-axis. Let for A = Aq. Ay, Ay < Ay, the shortest distance between
the two lines be 3. Then the square of the distance of the point (A;, ;. 7) from the line L is
Options :

3475771838. 23

3475771839. 32
3475771840. 37

3475771841. 40

Question Number : 14 Question Id : 347577539 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1Ly, T65 (1. 2. 3) U B Tl § 37K z-3& & HIMR §1XWT L,. &g (1. 5. 6) G EIHR SIall
g IR

- 3H& D GUIR §1 TFT L =y, ko, Ay = &y, D (10 3 G 134 & g GAdT il 3 g1 al

Options :




3475771838, 23
3475771839. 32
3475771840. 37

3475771841, 40

Question Number : 15 Question Id : 347577540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a line passing through the point (4, 1, 0) intersect the line L, : x;t = ‘V;E =t ;3 at the
oo
point A(a, B. y) and the line L,:x-6=y=-z+4 atthe point B(a, b, ¢). Then|lg f y|isequal
a b ¢
to
Options :

3475771842, 8
3475771843. 6
3475771844, 12
3475771845, 16

Question Number : 15 Question Id : 347577540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 45 (4, 1. 0) W BB o1 dTcil U 31, 34T L, :"'; _F=d =‘3;3 B g 4(e, B.v) IR

3
10 1
WGl Ly:x-6=y=—z+4 DG B (a,b,c) WPICdI gl d|g g y|RR3T
a b e

Options :
3475771842, 8

3475771843, 6
3475771844, 12

3475771845, 16

Question Number : 16 Question Id : 347577541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SINX COsx sinx+cosx+1 2

Ify{xj =|27 28 27 . xe B, then d—~2}1+ % is equal to
1 | dx
Options :



3475771846. 27
3475771847, —1
3475771848. 1

3475771849, 28

Question Number : 16 Question Id : 347577541 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S5iNX cosx sinx+cosx+ |

: g
ae y(x)=| 27 28 27 ..reE:%._?ﬁd—‘:erW%
1o I dx”

Options :
3475771846. 27

3475771847, —1
3475771848. 1
3475771849, 28

Question Number : 17 Question Id : 347577542 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[I+a:f}|"'r . x<D
Let j(x): I+b H I:U

)3

#, II}(]

be continuous at x = 0. Then e“b¢ is equal to:

Options :
3475771850. 48

3475771851, 64
3475771852, 12

3475771853, 36

Question Number : 17 Question Id : 347577542 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



{I+ax}"-'r , x<0
]:"T—” _f-(__r)zc 1+-'5 ¥ .T:U
(x+4)"-2 o
.. .1 X
(x+c)"” -2
r=0 R Ydd g1 il e%c R g
Options :

3475771850. 48
3475771851, 64
3475771852. 72
3475771853. 36

Question Number : 18 Question Id : 347577543 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let .f'(r}=j:f3\“3 -x* dx IfS_!"(JE] =—4, then (1) is equal to

Options :
22
3475771854, 5
62
3475771855, 3
42
3475771856, 5
82

3475771857. 5

Question Number : 18 Question Id : 347577543 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T f(x)=[23-2" ax §100G 5£(v2)=—48. Tl f(1) RRE

Options :
222
3475771854, 5
62
3475771855,
42

3475771856. 3




82

3475771857. 5

Question Number : 19 Question Id : 347577544 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the domain of the function f(x) = log, logs logg(3 + 4x —x%) be (a, b). If
Iuh_”[x“ﬁ}dr = P—«j‘; i p.q,r €N, ged( p,q,r) =1, where [ -] is the greatest integer function,

then p + ¢ + 7 is equal to
Options :
3475771858. 8

3475771859. 9
3475771860. 10

3475771861, 11

Question Number : 19 Question Id : 347577544 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HIAThd fix) = log; log, logg(3 +4x — ) DIU (a. b) %l gfg
b-a - e e :
[, | x* |dx= p=\Jqg =, p.q.r €N, ged(p.g.r) =18, ST&l [ ] SHIbTH YUl Bt
e dp+g+rNRE
Options :
3475771858. 8

3475771859. 9
3475771860. 10
3475771861. 11

Question Number : 20 Question Id : 347577545 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let g be a differentiable function such that Ig(!}d.’ = x—jlfg(l)dt. x 20 and let y = y(x) satisfy
0

the differential equation Z; —ytanx=2(x+1)secx g(x),xe {U. %J If(0) =0, then 1[%] IS
equal to
Options :

4
3475771862. 3



3475771863, 3
3475771864. 333

3475771865. 33

Question Number : 20 Question Id : 347577545 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WWWWg%W j;g{f]d.i':.‘r j;.'g{f]d!,_rzﬂ'%3‘?|?I|F|T;|'=}:{'x}._3133?_('{
THIHI %—j-‘mnx=2[x+1}sccxg[x],xe[0,%}ﬁwm%|qﬁ}‘m}:0%fﬁ

X
E =
¥ { _] RIR g
X
Options :
47
3475771862, 3
2
3475771863, 3
27
3475771864 3V3
dr
3475771865. 3V3
Mathematics Section B
Section Id : 34757744
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 34757744
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 347577546 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

If the number of seven-digit numbers, such that the sum of their digits is even. is
m-n-10": m, m € {1,2, 3,..,9}, then m + n is equal to



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 347577546 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

a7 gId-2id! & e, oHS B BT TA G, DI mon 10" m. n € {1.2, 3. ... 9!
. dm+n KRG

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 347577547 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

All five letter words are made using all the letters A, B, C, D, E and arranged as in an English
dictionary with serial numbers. Let the word at serial number » be denoted by W,,. Let the
probability P(W,)) of choosing the word W,, satisfy P(W,) =2P(W, _4).n > 1.

o

If P(CDBEA) = %, a, €N, thena + Bisequalto:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 347577547 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Tl 38RT A, B, €. D, E & WINT Y Ul 38R & Tl Teg 91U 91 § 3R ST Weadhi=l &l
G Y WA & 1Y Aaid U Siid & | /11 W, HH U1 n & ek Pl &2ATdl g | JHT
Qeg W, I I Bl WISl P(W,y). GHIBIUT P(W,,) = 2P(W,,_ ;). n > 1, DI TP Hdl g

o

HEP{CDBEA}=%, . fENT, Ala+ IR T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 347577548 Question Type : SA Display Question Number : Yes



Correct Marks : 4 Wrong Marks : 1
Let the product of the focal distances of the point P[4,2 ‘ﬁ] on the hyperbola H: 1'—1 ~ '_ =] be 32.

a
Let the length of the conjugate axis of H be p and the length of its latus rectum be g. Then pz + qz

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 347577548 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks |

AT TR 11: __b_2—1 TR fefg P(4,23) BT A1 R BT 0D 32 €1 AFTH

%Wﬂﬁ»ﬂ&{ﬁﬁﬁﬁ]ﬁp%&ﬁ?ﬁaﬁﬂ@ﬁamaﬁmg%la“Ipl—.gZW%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 347577549 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Let @ =i+ ,H'k b=3i +2J’ k E= Aj+yk and d be a unit vector such that daxd=bxd
and ¢ d =]. If ¢ is perpendicular to 7, then |2

| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 347577549 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

TG =i+ ]+k,b=30+2j—k,c= 1]+ k 3R d 0% 3HTS URAZHUSR G b
axd=bxd IR ¢-d =17 IR ¢, U 5 & AT E, M |32 + pue| RIRE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 25 Question Id : 347577550 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

The area of the region bounded by the curve y = max ||x|, x|x — 2|}. the x-axis and the
lines x =-2 and x =4 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 347577550 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

dh y = max {|x|, xlx - 2 L= ARG v =2, v =4 U URE & B &AHA

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Physics Section A

Section Id : 34757745
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 34757745
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 347577551 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A person measures mass of 3 different particles as 435.42 g, 226.3 g and 0.125 g. According to
the rules for arithmetic operations with significant figures. the addition of the masses of 3

particles will be.
Options :
3475771871, 661.845 g

3475771872, 002

3475771873, 061.84 g



3475771874, 061.8 g

Question Number : 26 Question Id : 347577551 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U i 3 fHA HUI & GHAM 435.42 g, 226.3 g 3R 0.125 ¢ HIUl ¢ | UIids Tvaared & ary
Wﬁﬁﬂﬂﬂmiﬁa?ﬁﬂﬁav_&lﬂﬂﬁ Al oM S sroTH T T B

Options :
3475771871, 661.845 g

3475771872, 602
3475771873, 061.84 g

3475771874, 661.8 g

Question Number : 27 Question Id : 347577552 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II

LIST-I LIST-II
A | Gravitational constant I LT
B. | Gravitational potential energy | II. |[L2T 2
C. | Gravitational potential IL | (MLAT )
D | Acceleration due to gravity IV. [_‘UI_ILET _:]

Choose the correct answer from the options given below:
Options :

3475771875, A-IV, B-1II. C-II, D-I

3475771876, A-L B-III. C-IV, D-II

3475771877, A-IIL, B-II, C-I, D-IV

3475771878, A-1L. B-1V, C-III, D-I

Question Number : 27 Question Id : 347577552 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



G 1 &1 GHI11 & 1Y THelHE B

eI T
A |TEdE RIS L [fET 3
B. | ot Ryl Sl I LT}
C. [TTedig fayg 1L | ML2T )
D. | ey @ IV | M IL3T 7
i feu U f9edl § 9 wEt IR -
Options :

3475771875, A-IV, B-IIL, C-II, D-1
3475771876, A-L, B-III, C-IV, D-II
3475771877, A-1IL B-II., C-I, D-IV

3475771878, A-IL. B-IV, C-III, D-1

Question Number : 28 Question Id : 347577553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is released from height S above the surface of the earth. At certain height its kinetic
energy Is three times its potential energy. The height from the surface of the earth and the speed
of the particle at that instant are respectively.

Options :

S 3gS
3475771879. 4 2
3475771880. 4\ 2

g, 8
3475771881.2° ¥ 2

S 3gS
3475771882, 2 2

Question Number : 28 Question Id : 347577553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Udh DUl $l, §dl &l Hdg & SR Hdls s U BISI S 2| U [iFd SHarg R gq®] 1ids
W,s;ﬁi@ﬁamﬁaﬁ%ﬁﬁﬂ?ﬁél 3 &0 TR, HUT i gedl i Gag I Hdls 3R drd
SO B

Options :

S 3g8
i

2

La=]

3475771879.



3475771880.

3475771881.

o

S 3g
2% 2

3475771882.

Question Number : 29 Question Id : 347577554 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The angle of projection of a particle is measured from the vertical axis as ¢ and the maximum

height reached by the particle is h,;, . Here h,,, as function of ¢ can be presented as

Options :
TI\
h111
8]
(J (=]
3475771883. ¢ %N
T/\
h'IH 1
1
1
.
1
0 2
3475771884, ¢ 90
T/\
hl]]
@] . 2
3475771885. ¢ 90
T/\
h'lil
->
3475771886. g %

Question Number : 29 Question Id : 347577554 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T DU BT TETU BV, FHEaieR 318 U ¢ HIUT Sl g 3R B gRI UG T dH ST by,
S| T8l hy, Dl¢ b B &b =0 H FYad a2 S Yl g

Options :

h

A~

11

O
3475771883. ¢

T

h

90°

I

i

e ¢ 905

1

h m

3475771884.

AT

N

O .
3475771885. ¢ 90

0 =2
3475771886. ¢ 90

Question Number : 30 Question Id : 347577555 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following curves possibly represent one-dimensional motion of a particle?

Phiase

Velocity

displacement

Velovity

an
e

M

Total dhstance

mne

Choose the correct answer from the options given below:
Options :

3475771887, A- B and C only

3475771888, A- € and D only

3475771880, A and B only

3475771890, A- B and D only

Question Number : 30 Question Id : 347577555 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FRad # 9 $H 9 9 TRad: T SO &1 Uh- [0 T B FReUd S oo

Fe gl

1 feu T faseul # 9 |8t 3R I
Options :

3475771887, AT A, B 3R C
3475771388, PIA A, C 3R D
3475771889, A A 3R B

3475771390, PIA A, B 3R D

Question Number : 31 Question Id : 347577556 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A force of 49 N acts tangentially at the highest point of a sphere (solid) of mass 20 kg. kepton a
rough horizontal plane. If the sphere rolls without slipping, then the acceleration of the center of
the sphere is

49 N

i

Options :
e
3475771891, 0.25 mv/'s

)

3475771892, 2.5 m/s™
T
3475771893, 0.35 m/s

s
3475771894, 3.5 m/s

Question Number : 31 Question Id : 347577556 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ueh TR (&) A el R T, So0HH 20 kg & U T (314) B F=ad f6g TR, 49 N &I
U d WRREY 9 Y SR g1 A T {941 e dedhdl g, dl 7T & divg bl @Rl g

FaoN

-

Options :
. i 2
3475771891, 0.25 m/s

o R
3475771892, 2.5 m/s™

- i 2
3475771893, 0.35 m/'s

B o
3475771894, 3.5 m/s

Question Number : 32 Question Id : 347577557 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a completely full cylindrical water tank of height 1.6 m and of cross-sectional

area 0.5 m”. It has a small hole in its side at a hei ght 90 em from the bottom. Assume, the cross-
sectional area of the hole to be negligibly small as compared to that of the water tank. If a load 50

kg is applied at the top surface of the water in the tank then the velocity of the water coming out
at the instant when the hole is opened is:

(g=10 111-"'53]



Options :
3475771895, 2 mv/s

3475771896, 3 m/s
3475771897, 4 mv/s

3475771898, 5 m/s

Question Number : 32 Question Id : 347577557 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

$dls 1.6 m 3R TR GRwE AN 0.5 m? B 9d I JUf T Y 13 Tdh da-dR bl IR
faaR B¥ | Tell T 90 em D1 Hdls R 39D U4 T T (9% ¢ | g & 3R UR=iG &
GAHd B, Ol DI Dl & AU URwse & &A% d b1 dof-l H F10g =9 9§ Sl 7H o | i

¢l § ofd b HURI JY UR 50 ke &1 U IGR (Al1S) U fdhar SI1dl g, of 39 &0l iS5 1R
{5 &1 Al STdl o, IR 31 dlcl ofd &1 47 o:

(g=10 mf'sz}
Options :
3475771895, 2 m/s

3475771896, 3 m/s
3475771897. 4 m/s

3475771898, 5 m/s

Question Number : 33 Question Id : 347577558 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During the melting of a slab of ice at 273 K at atmospheric pressure:

Options :

3475771899, Positive work is done on the ice-water system by the atmosphere.

3475771900, E0sitive work is done by the ice-water system on the atmosphere.
3475771901, Internal energy of ice-water system remains unchanged.

3475771902, Internal energy of the ice-water system decreases.

Question Number : 33 Question Id : 347577558 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TIHUSTE R G1d IR 273 K IR 9% &I U [Gew! & [09a- & aRA

Options :

1475771890, ITAATSH GRT S-Sl T TR 4HTHS B fbar Sl B




3475771000, ITAAVSH TR §h-Sicl B §RT 4TS Y fohdl Sl ¢

3475771901, TD-OTcl (AT DT ST=IRD FHoll 3TRGldd Igdl ¢
3475771902, TP-91C1 [T BT ATIRS Foll Tedi g

Question Number : 34 Question Id : 347577559 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A gas is kept in a container having walls which are thermally non-conducting. Initially the gas

3 it ; ;
has a volume of 800 cm” and temperature 27°C. The change in temperature when the gas is
adiabatically compressed to 200 cm” is:

(Take y = 1.5 : v is the ratio of specific heats at constant pressure and at constant volume)
Options :
3475771903. 600 K

3475771904, 300 K
3475771905. 327 K

3475771906, 522 K

Question Number : 34 Question Id : 347577559 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U 119 a4 &0 Y =S g1dR]1 dlcd UF H IHEd §1 UR™ H, 719 &1 3dH 800 em’ 3R
UM 27°C 1 TR &1 200 em® AP S d: JUifSd #31 R a99H H uRdad o

(y=1.5d ;v Fgd a7 2R A9 amgd W fafy e &1 e[ua §)
Options :
3475771903, 600 K

3475771904, 300 K
3475771905, 327 K

3475771906, 322 K

Question Number : 35 Question Id : 347577560 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Pl i iV i N

A piston of mass M is hung from a massless spring whose restoring force law goes as F= ke,
where k is the spring constant of appropriate dimension. The piston separates the vertical
chamber into two parts, where the bottom part is filled with ‘n” moles of an ideal gas. An external
work is done on the gas isothermally (at a constant temperature T) with the help of a heating
filament (with negligible volume) mounted in lower part of the chamber, so that the piston goes
up from a height L to L, the total energy delivered by the filament is :(Assume spring to be in

its natural length before heating)

Options :
2N . .
n!{'ﬂn[!—"l |~MT*LU_, = .rﬂ)*,%(,ﬂat_ ')
3475771907. Ly) 2
.r! K
ool £ (- o) &1 1)
3475771908. \ 4 y
L) Be s
st ) 2w -10)+4{0- 1)
3475771909. Ly ) 3
(L 3k
ﬂ?ﬂ—q+mﬂgm%h—{ﬁ~%ﬂ
3475771910. \ Ly 4

Question Number : 35 Question Id : 347577560 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pl i iV iV i

Lo

SOAM M &1 TS fike Tdh g Rigd AN Y dedl 5. e hHT Uda oa F= o, &
FUH g, Jel k IUgad (901 1 HAF Fadic ¢ | ke St sy &l al Ui | f[quifa
Al g, Sl -iTd &l YR U SHTER T & o JId U R g1 UBIN & Had fag | SRId
(S1S) U 1Y I (A0 3 & T1Y) DI Ggdl ¥ 719 WR (T Had dIaHE 1 IR) Th
dTel A HAU 0 9 59 UbR fbdl Srdl € b e &1 $dis L, 9 d¢dhi L, 8l 6l g1

dd gRIUex $d Holl ¢ : (AHE o T TH B & Jd HHMT 3T WiHTidd arers J o)




Options :

23 . :
nfmn[i'l —M%(;, — L)+ = (L'~ Lo*)
3475771907. L) 2 1
e k
nRTIn| 2 |+ Mg (L - L)+ (L} - 15")
L) ™ D
3475771908. \

Li | L
3nRT In| - | +2Mg (L~ Lo )+~ (L - Lo |

3475771909. ./

{ *
nRTEn| ﬂ]-k Mg(L - Ln_‘]+£([|4 = [04)
3475771910. \ Ly 4

Question Number : 36 Question Id : 347577561 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two blocks of masses m and M, (M = m), are placed on a frictionless table as shown in figure. A

massless spring with spring constant k is attached with the lower block. If the system is slightly
displaced and released, then

(u = coefficient of friction between the two blocks)

m {;;r‘ﬂ

k
IO ——— M

AN

EEET PPl Al s rrrrsy

A. The time period of small oscillation of the two blocks i1s 7224 J (m +M)

k
. : fex
B. The acceleration of the blocksis g = — ——
M +m
(x = displacement of the blocks from the mean position)
C. The magnitude of the frictional force on the upper block is :;’t&
MM+ m

D. The maximum amplitude of the upper block, if it does not slip, is M

E. Maximum frictional force can be g(M + m) g.

Choose the correct answer from the options given below:
Options :

3475771911, A B, C Only

3475771912, B> €, D Only

3475771913, €. D. E Only

3475771914, A. B. D Only



Question Number : 36 Question Id : 347577561 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SHAM! m 3R M, (M > m) & &l e, Udh THURIEd 9 UR o ¥ GRITU U 38R 3 ¢
ST RRI® k & 1Y U HAM!, Aid (d b 9 9s! g1 afe 39 Har &l Urer 4
faenfid axe 3ie fea SEr g, df

(u="GIHI TPl & o1 BT gy 0TdH)

J7,

m | =
k
——TTTIT———

SRS

EEEE Tl rrrrry

_—

A. SHI T[ehl & 3] GIa & 3ATdd BId r:sz\ﬂ’“”} gl
k
B IER
M+m

(x =119 RIS Y el o1 DI fa=I1TH)
C. IR & Ted R o aa Hrafemor e

M +m
D. SR ST e af fraad 781 8, 7 st siftaan smm A +m)g &)

k
E. ST 980T I¢ w(M + m) g 8 Ihal g
- feu U fas el # 9 |8t IR I

Options :
3475771911, PAT A, B, C

3475771912, WEL C.D
3475771913, P4 C, D, E

3475771914 $hdd A.B,D

Question Number : 37 Question Id : 347577562 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of length 25 m and cross-sectional area 5 mm’ having resistivity of 2 = 107® Q@ m is bent
into a complete circle. The resistance between diametrically opposite points will be

Options :

3475771915, 25 Q2

3475771916, 50 £2

3475771917. 100 Q

3475771918, 12.5 €2



Question Number : 37 Question Id : 347577562 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WES 111@@@%51mn2%®m.wmﬁﬁw2 % 1 Qm%._
@1 U QUi g0 | HIST ST ¢ | NI YR famg 31 & ofid UfcRie g

Options :
3475771915. 23 Q

3475771916. 50 Q2

3475771917. 100

[
h
e

3475771918. 1

Question Number : 38 Question Id : 347577563 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A parallel plate capacitor is filled equally(half) with two dielectrics of dielectric constants &;and

€, , as shown in figures. The distance between the plates is d and area of each plate 1s A. If

c
; ; 3 5 . | &
capacitance in first configuration and second configuration are Cy and C, respectively, then — is
2

First Configuration

r

W . - - L] - ' - . .
& @ . - & s o a *®

. . s ® ® . - s - "

# _# ® s Ll . . - s ® ® ®

8 @ # ® ® # ..

“w ® * ® # ®

!

Second Configuration

'-,.-:_:-:;E;::':;':;%// ////
) /
@

Options :
EU(EI"'SEJ
3475771919. 2
4g.8,

2

3475771920, (81 + €2)

€€,

3475771921, €1+ €2



2
E1E)

———
3475771922, (8, + £3)

Question Number : 38 Question Id : 347577563 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uch TR et YR, fot H 22T 70 3R, WRidegdia! €, 3Re, & & WRIagd d
UM Y Y ({141 U1 2 | ufedrefl & did & gl d IR Uddd Ufed] &l 83 A g1 afe

Ugd SR gER =g H 41Rart HHS: ¢, IR ¢, %‘?’ﬁc' 2
Ugdl fd=amd

Ry e e el :'EJ. ol T
a1 [
'-_.-:;-:_-E;:;'::'::%// ////
)/ /

L ]
Options :
EU(EI"'E'EJ
3475771919. 2
4g.8,

;
3475771920, (81 + €2)
€15,

3475771921, €1+ &2

2
E1€q

——
3475771922, (8, + ;)

Question Number : 39 Question Id : 347577564 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrostatic potential on the surface of uniformly charged spherical shell of radius R =10 cm

is 120 V. The potential at the centre of shell, at a distance r = 5 cm from centre, and at a distance r = |5
cm from the centre of the shell respectively, are:

Options :



3475771923, 40V, 40V, 80V
3475771924, OV, 120V, 40V
3475771925, 120V, 120V, 80V

3475771926, OV. OV, 80V

Question Number : 39 Question Id : 347577564 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT R = 10 em & UTHYHM =0 Y G0 ¢TSI (@id) & U8 R [RRIGYd faug
120V PIY D Hg R P HhEUr=>5 c1naﬁﬁq?3ﬁ?aﬂwa’7ﬁ@r= 15 cm I
R R fqYd HHg: g

Options :

3475771924, OV, 120V, 40V
3475771925, 120V, 120V, 80V

3475771926, OV, OV, 80V

Question Number : 40 Question Id : 347577565 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The radiation pressure exerted by a 450 W light source on a perfectly reflecting surface placed at
2m away from it. is

Options :

3475771927, 3 % 107" Pascals
3475771928, 6 * 107° Pascals

3475771929, 1.5 * 1078 Pascals

3475771930. 0

Question Number : 40 Question Id : 347577565 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T 450 W THTRI-TId §R1 38Y 2m R [¥d U IRY0I Waded g§ W, RIUd fdfdeor ae
]

Options :
3475771927, 3 * 107 Pascals

3475771928, 6 * 107° Pascals



3475771929, 1.5 * 1078 Pascals

3475771930. 0

Question Number : 41 Question Id : 347577566 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider following statements for refraction of light through prism, when angle of deviation is
minimum.

A. The refracted ray inside prism becomes parallel to the base.

B. Larger angle prisms provide smaller angle of minimum deviation.

C. Angle of incidence and angle of emergence becomes equal.

D. There are always two sets of angle of incidence for which deviation will be same except at
minimum deviation setfing.

E. Angle of refraction becomes double of prism angle.

Choose the correct answer from the options given below:
Options :
3475771931, A- € and D Only

3475771932, A- B and E Only
3475771933, B, C and D Only

3475771934, B, D and E Only

Question Number : 41 Question Id : 347577566 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fUSH & A190H U UHTR & 30 & (999 H HylaRad oyl IR fdar &8, oid {$ fageq
GAEIERE S

A. 3udfdd fbur, fISH & 3R, MR & =R gl Sildl 8|

B. JeTR &IV & 0o, ad fade & (HHaR S0 &-1d § |

C. 3T DI 3R 71 HIU SRI&R gl ST ¢ |

D. 3TUdH DIV & Fad &l =4 BId 8, o [e7T Add fa=e fa=md & sifaRad
farIe 9&a GHIE g

E. 3{Udd HI0T, fUSH $I0T &1 &7 g1 |di g |

1 fqu Y fasedt & 9 Hgt SR IH:
Options :

3475771931. HAd A, C 3R D
3475771930, PAA A, B AR E

3475771933. $Had B, C 3R D




3475771934. $dd B.D 3R E

Question Number : 42 Question Id : 347577567 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The radii of curvature for a thin convex lens are 10 cm and 15 cm respectively. The focal length

of the lens i1s 12 cm. The refractive index of the lens material is
Options :

3475771935, 1.2
3475771936. 1.8
3475771937. 1.4

3475771938. 1.5

Question Number : 42 Question Id : 347577567 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uch Udel 3dd -4 1 debdl AU HHT: 10 em 3R 15 em § 1 -9 &1 BIHE G 12 cm B
= & Yard $1 3udad-i® g

Options :
3475771935. 1.2

3475771936. 1.8
3475771937. 1.4

3475771938. 1.3

Question Number : 43 Question Id : 347577568 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The work function of a metal is 3 eV. The color of the visible light that is required to cause
emission of photoelectrons is

Options :

3475771939. Yellow

3475771940, Green
3475771941, Red

3475771942, Blue

Question Number : 43 Question Id : 347577568 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T Y1 T HA-THH 3 eV § | UBIRID-Zelde -l & Jodoid o [¢1U axgd T3] UHIR Bl T
®



Options :

3475771939. [“E”

3475771940. exl

3475771941, dlI¢

3475771942. 'EIEI

Question Number : 44 Question Id : 347577569 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-I with LIST-II

LIST-1 LIST-II
AlIn+35°U 55X e + 3¢Sr+24n | L [Chemical reaction
B.|2H; +0; = 2H,0 II. |Fusion with +ve Q value
C.|[IH+] H—3 He+hn III. |Fission
D } H -|-i§ H —)]2 H +l2 H IV | Fusion with -ve Q value

Choose the correct answer from the options given below:
Options :

3475771943, A-III, B-1. C-II, D-IV

3475771944, A-1L B-1, C-IV, D-III

3475771945, A-IIL, B-1. C-IV, D-II

3475771946, A-1L, B-1, C-III, D-IV

Question Number : 44 Question Id : 347577569 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 &1 GHI-11 & 91y fTel = H
S i

AL+ 235U 5 140x, 4 945, ol n | 1 |eremafie sfRer
B.[2H, + 0, - 2H,0 I | ¢HTHS Q HF & WY HergA
C.[}H+] H—3 He+yn 1 | fagus
D. ]'H+?H —>]3 H+13H IV, |BUTHES Q §H & Iy Iaaa

9 e e Riwed! 3 @ Wl IR T

Options :

3475771943, A-IIL, B-1, C-II, D-IV



3475771944, A-1L, B-1, C-IV, D-III
3475771945, A-111, B-1. C-IV, D-1I

3475771946, A-IL, B-1, C-III, D-IV

Question Number : 45 Question Id : 347577570 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the correct logic circuit for the given truth table having inputs A and B.

Inputs | Output
AlB
oDlo
o111
110
111

Options :

3475771947.

3475771948.

3475771949.

A

i

3475771950.

Question Number : 45 Question Id : 347577570 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa2 A 2R B & 91y €1 7 G 9Roft & e 98l adb ulay 941

o |frfa
AlB| v
olo| o
ol1]| o
1{o] 1
1{1] 1

Options :



3475771947.

@L
o
B
3475771948. [
L
B
o
A

3475771950. B

VY

3475771949.

y

Physics Section B
Section Id : 34757746
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 34757746
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 347577571 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

Three identical spheres of mass m, are placed at the vertices of an equilateral triangle of length a.
When released, they interact only through gravitational force and collide after a
time T = 4 seconds. If the sides of the triangle are increased to length 2a and also the masses of

the spheres are made 2m, then they will collide after

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

seconds.

Question Number : 46 Question Id : 347577571 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 47 Question Id : 347577572 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A 4.0 cm long straight wire carrying a current of 8A is placed perpendicular to a uniform
magnetic field of strength 0.15 T. The magnetic force on the wire is mN.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 47 Question Id : 347577572 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

HRT SA BT AGDH, TP 4.0 cm T WL TR, WG 0.15 T $ Uh UHUHMH BT & &
e [RUA g1 39 dR R I 1T dd mN g |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 48 Question Id : 347577573 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

A loop ABCDA., carrving current I = 12 A, is placed in a plane, consists of two semi-circular
segments of radius Ry = 6mr m and R, = 4n m. The magnitude of the resultant magnetic field at

center O is kx10~' T. The value of k is

(Given g = 4m x 107 Tm AT

el

AT B2 €D
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1



Question Number : 48 Question Id : 347577573 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

e Ry = 61 m R R, = 47 m & &l 3t JuidR Ui Y [HEd, 4RI 1= 12 A BT dEH Uh
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(fearmarg: Hg=4m %107 TmA™)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 49 Question Id : 347577574 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
In the figure shown below, a resistance of 150.4 Q) is connected in series to an ammeter A of

resistance 240 Q. A shunt resistance of 10 Q is connected in parallel with the ammeter. The
reading of the ammeter is mA.

150.4Q

| |
 f
20V
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 49 Question Id : 347577574 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 347577575 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Two coherent monochromatic light beams of intensities 41 and 91 are superimposed. The
difference between the maximum and minimum intensities in the resulting interference pattern is
xI. The value of x is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 50 Question Id : 347577575 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 34757747
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 34757747
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 347577576 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among 1072 g (each) of the following elements, which one will have the highest number of
atoms?

Element: Pb, Po. Pr and Pt
Options :

3475771956. Pb
3475771957. Po
3475771958, Pr

3475771959, Pt

Question Number : 51 Question Id : 347577576 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafdfad dal B9, 1070 ¢ (UdD) 9. [ gD Uy gaifte Swar o wumvs(l & g gl
ddd : Pb, Po, PrUd Pt

Options :

3475771956. Pb

3475771957. Po
3475771958, Pr

3475771959, Pt

Question Number : 52 Question Id : 347577577 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following postulate of Bohr's model of hydrogen atom is not in agreement with
quantum mechanical model of an atom?

Options :

3475771960.

An atom can take only certain distinct energies E; E,, E; . etc. These allowed states of constant

energy are called the stationary states of atom.

3475771961.
An atom in a stationary state does not emit electromagnetic radiation as long as it stays in the
same state.

3475771962.
When an electron makes a transition from a higher energy stationary state to a lower energy
stationary state, then it emits a photon of light.



3475771963, Lhe electron in a H atom's stationary state moves in a circle around the nucleus.

Question Number : 52 Question Id : 347577577 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

3475771960.

U AT Had $F (T HIC E;_E,, E; 3Mfc T Gl ¢ | WM FHoll &I T 3FAd
S{ARYTU GIATY] i RIRT ST Hgaldl §|
3475771961.
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3475771962.
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Question Number : 53 Question Id : 347577578 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following properties will change when system containing solution 1 will become
solution 27

10 mol of solute x 1 L of solution 1
+ ) +
10 L of water 1 mol of solute x

1L of water

(Selution 1) (Solution 2)
Options :
3475771964, Gibbs free energy

3475771965, Molar heat capacity

3475771966, Density

3475771967. C oncentration

Question Number : 53 Question Id : 347577578 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



giiﬂw 1| & YR HHM Y faerd 2 S R o | Faferiad o 9 @ 91 qured gRkafdd

faemx F 10 faaga1®11 L
4+ a A
Od+10 L <@ fTomx &1
did + 1 L
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Options :

3475771964.E = BHEEGSEi
3475771965. ATeR 31 YTl

3475771966, d1cd

3475771967, SIsdl

Question Number : 54 Question Id : 347577579 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 moles each of ethylene glycol and glucose are dissolved in 500 g of water. The boiling point of
the resulting solution is:

(Given : Ebullioscopic constant of water =0.52 K kg mol™!)
Options :
3475771968. 379.2 K

3475771969, 277.3 K
3475771970, 3773 K

3475771971, 3753 K

Question Number : 54 Question Id : 347577579 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ui g ie 3R Th Y Udd & 2 Tidll Bl 500 ¢ Sel 8 Hlell Srd1 ¢ | TRomH! faera- &1
HYD

(FS1 11 B: O] BT Sy I3 RRIF = 0.52 K kg mol ™)

Options :

3475771968. 379.2 K

3475771969, 277.3 K
3475771970. 3773 K

3475771971. 3753 K



Question Number : 55 Question Id : 347577580 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the following system, PCls(g) < PCl;(g) + Cly(g) at equilibrium, upon addition of xenon gas

at constant T & p, the concentration of
Options :
3475771972, PCly will increase

3475771973, Clo Will decrease
3475771974, PCl5 will increase

3475771975, PCls. PCly & Cl, remain constant

Question Number : 55 Question Id : 347577580 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFrafaRad Fe™ 3 pels(2) 5 PCly(g) + Cly(g) TFAETRIT IR, fRR T U p TR SHHE 9 &1
e R,

Options :

3475771972, PCly T U ¢
3475771973, Cl, BT el g2l

3475771974, ECls EARIEGIEES

1475771075, PCls, PCly Td €L, DI WigdTd fRR g

Question Number : 56 Question Id : 347577581 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Correct order of limiting molar conductivity for cations in water at 298 K is :
Options :

g a2t ot wTat
3475771976, Mg~ > H'™ = Ca”" > K" > Na
3475771977. H > Na’ = K" > Ca™" > Mg

3475771973, H' > Na' >Ca”" > Mg~ > K"

3475771979, H = Ca™" > Mg"" = K" > Na

Question Number : 56 Question Id : 347577581 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



298 K U Sid | Y1l &1 YiHId AR dIddhd] &1 Yol HH © -
Options :

2+ 1t = i iap S LR ¥,
3475771976, Mg~ = H > Ca” > K™ >Na

iy L iy
3475771977, H = Na® = K" = Ca™" = Mg

3475771978, H > Na” > Ca”" = Mg~ > K"

o R - N e
3475771979, H' = Ca” > Mg~ =K >Na

Question Number : 57 Question Id : 347577582 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : A catalyst cannot alter the equilibrium constant (K ) of the reaction, temperature

remaining constant.

Statement II : A homogenous catalyst can change the equilibrium composition of a system,
temperature remaining constant.

In the light of the above statements, choose the correct answer from the options given below
Options :
3475771980, Both Statement I and Statement IT are true

3475771981. Both Statement I and Statement II are false
3475771982, Statement I is true but Statement 1T is false

3475771983, Statement I is false but Statement II is true

Question Number : 57 Question Id : 347577582 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

3475771980, PUT1Td HYT I G Hel G |

3475771981, DU 1T HYT 11 ST 7T B



3475771982. DY 1TE § UR-d DY I 7Tclc gl

3475771983. DY T % jﬁmnﬂfﬁ %I

Question Number : 58 Question Id : 347577583 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a reaction A + B — C, initial concentrations of A and B are related as [A]y = 8[B],. The half

lives of A and B are 10 min and 40 min, respectively. If they start to disappear at the same time,
both following first order kinetics, after how much time will the concentration of both the

reactants be same ?
Options :

3475771984, 20 min
3475771985, 40 min
3475771986, 60 min

3475771987. 80 min

Question Number : 58 Question Id : 347577583 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Udh HUfehaT A + B — ¢ H. AUd B &I YRS Wr=dl [A],=8[B], ® U H GEEd |
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Options :

3475771984, 20 THAC

3475771985, 40 e
3475771986. 60 BEL

3475771987, 80 e

Question Number : 59 Question Id : 347577584 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-II

LIST-I LIST-IT
(Molecules/ ion) (Hybridisation of central atom)
A | PFs I {lsp—j
B.| SFg II | sp’d
C. | Ni(CO)y IL | spd?
D | [PCL,]1* IV | sp?

Choose the correct answer from the options given below:
Options :

3475771988, A-I. B-II, C-III, D-IV

3475771989, A-II. B-IIT. C-IV, D-I

3475771990, A-III, B-I. C-IV, D-II

3475771991, A-IV, B-1, C-II, D-III

Question Number : 59 Question Id : 347577584 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 BT G-I & 1Y e &Y
ES L
(37T SHTT) (1T UTHTY] HT HHI0N)
A | PF;s L d‘sp2
B.| 5F; IL | sp°d
¢ | Nico), I | spia?
D.| [PtC1,]1* IV. | sp°
- feu T fasedl § 9§ 981 3R I
Options :

3475771988, A-I. B-1I, C-III, D-IV
3475771989, A-II. B-IIT. C-IV, D-I
3475771990, A-IIL, B-1. C-IV, D-II

3475771991, A-IV, B-1. C-II, D-III

Question Number : 60 Question Id : 347577585 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct ?

A. The process of adding an electron to a neutral gaseous atom is always exothermic.
B. The process of removing an electron from an isolated gaseous atom is always endothermic.

C. The 1% jonization energy of boron is less than that of beryllium.
D. The electronegativity of C is 2.5 in CH4 and CCly

E. Li is the most electropositive among elements of group I.

Choose the correct answer from the options given below:
Options :
3475771992, B € and E Only

3475771993, B and € Only
3475771994, B and D Only

3475771995, A € and D Only

Question Number : 60 Question Id : 347577585 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFrafaRad & 9 SH-8 HY= 5151 82

A. U I T GRAT] H Uh Sclae - & slie &I Uihdl Yad e il o
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E. UOg 1 & ddl ¥ Li qaiies e=faggdi g1
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Options :

3475771992, PAAB, C TG E

3475771993 HadBTd C
3475771994, »ddBUID

3475771995, ddd A, CcUdD

Question Number : 61 Question Id : 347577586 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I : The N - N single bond is weaker and longer than that of P - P single bond.

Statement IT : Compounds of group 13 elements in + 3 oxidation states readily undergo
disproportionation reactions.

In the light of the above statements, choose the correct answer from the options given below
Options :

3475771996. Both Statement I and Statement II are true

3475771997, Both Statement I and Statement IT are false

3475771998, Statement I is true but Statement II is false

3475771999, Statement I is false but Statement II is true

Question Number : 61 Question Id : 347577586 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B IE ARG TR IS
DY I P-P Uhd &~ BI a1 H N-N Udhd T4 Gadl Ud T g |

DY IL: YYE 15 dcdl D IR +3 AFHIDR0T a1 T Y & i g
HHTHATT URId PG |

STa HU & 3eld § - 5T T fawe & ¥ ug) S g
tions :

?;57719%_ HYT 104 HY 1 & TS

3475771997, DU 1Td DY 11 &I TTeId B |

3475771905, PUT IR € TRd YT LTI B |

3475771999, P U1 1TTCTC ¢ IReg PYUT 1 TET B

Question Number : 62 Question Id : 347577587 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The metal ions that have the calculated spin-only magnetic moment value of 4.9 B.M. are :

A Cr2T
B. Fe?™
C.Fe*"
D. Co*™
E. Mn>™"

Choose the correct answer from the options given below:
Options :
3475772000. A+ B and E Only

3475772001. A- D and E Only
3475772002, B and E Only

3475772003, A- C and E Only

Question Number : 62 Question Id : 347577587 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ¢T3 o1 URE AT Ul A I 390l 319 4.9 B.M. 6. 6:

A CrT
B.Fe?™
C.Fe’*
D, Co
E. Mn>™"

2 fo T Faepedt 4 Q& A SR

Options :

3475772000, AT A, B 3R E
3475772001. $de A, D 3R E
3475772002, DA B 3R E

3475772003. Hde A, C 3R E

Question Number : 63 Question Id : 347577588 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct order of the complexes [COENH3}5IH20]]3_ (A), [Co(NH; )6]3_ (B), [CO(CN}G]E_ (C)
and [CoCl(NH; }5]} (D) in terms of wavelength of light absorbed is

Options :
3475772004. C =B = A= D



3475772005. C =B =D = A
3475772006, D= C>B = A

3475772007. D=A=B>=C

Question Number : 63 Question Id : 347577588 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST UBIRT @1 i1 o&f o Ua T UHdl [Co(NH;)s(H,0)™ (A). [Co(NH3)e>™ (B).

[Co(CN)e]*™ (C) Ud [CoCL(NH;)s]* (D) &1 Uel H g
Options :
3475772004. C =B = A>D

3475772005. C =B =D = A
3475772006. D = C =B = A

3475772007. D =A =B = C

Question Number : 64 Question Id : 347577589 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements from the following.

O
Al/\(\ and )J\/\ are metamers
O

B. CN and

NN(' are functional isomers

C. /\\//\\()H and /\)\(]H are position isomers

e S
D. NH, and g NH~" " are homologous

Choose the correct answer from the options given below:
Options :

3475772008, 4B & C Only

3475772009. B & C Only

3475772010, € & D Only



3475772011, A & B Only

Question Number : 64 Question Id : 347577589 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

3475772008, PAT ABTA C

3475772000, PAA B Td C

3475772010, PAAC T D

3475772011. had AT B

Question Number : 65 Question Id : 347577590 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which compound would give 3-methyl-6-oxoheptanal upon ozonolysis?

Options :

3475772012.

3475772013.



3475772014.

3475772015.

Question Number : 65 Question Id : 347577590 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IS 3MTHe R SH-91 JifTdH 3-Hid-6- TGP -d UG S

Options :

3475772012.

3475772013

3475772014. j

3475772015

Question Number : 66 Question Id : 347577591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identity [A], [B] and [C], respectively in the following reaction sequence:

N2 Cl
NaNO, , HC| ) ki 2Na |
A] —2" | > [B] > [C]
273-278 K e Dry ether

Options :



[A]

NH, Cl
3475772016.
NH, Cl
I
[B] [C] @
3475772017.

NO, |
[A] @ [B] @ (€]
3475772018.
NH, |
[A] [B] @ICI
3475772019.

Question Number : 66 Question Id : 347577591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafeRaa sififcrar 3y 8 U [A], [B] Ud [C] DI UgHIHT:

N2 Cl

NaNO, . HC N 2Na .
-y e | [B] > [C]
273-278K P Wgwﬁ
Options :
NH, cl
[A] [B] (€]
3475772016.
NH, cl
|
[A] |B] [C]
3475772017.
NO, I
[A] [B] [C]

3475772018.



NH, I
1A] @ [B] @ (€]
3475772019.

Question Number : 67 Question Id : 347577592 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The least acidic compound, among the following is:

FiO OH S0H
©/ h"ﬂoﬂ E10,C —=— H

(A) (B} (C) [{B)]
Options :
3475772020. B

3475772021. D
3475772022, C
3475772023. A

Question Number : 67 Question Id : 347577592 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FHfeRad H O 9aY $H g dilfld g

EtO OH S0,H
©/ r\mﬁ” E10,C —=— H
(B) («©

(A) ) (I

Options :
3475772020. B

3475772021. D
3475772022, C
3475772023. A

Question Number : 68 Question Id : 347577593 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Number of molecules from below which cannot give iodoform reaction is:

Ethanol. Isopropyl alcohol, Bromoacetone, 2—Butanol, 2—Butanone, Butanal, 2—Pentanone,
3—Pentanone. Pentanal and 3—Pentanol.

Options :

3475772024, 2



3475772025, 3
3475772026. 3

3475772027. 4

Question Number : 68 Question Id : 347577593 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e feu 7T eruget 5 U 3 el & W off AaSHH fHfthar el Id @R Udd ¢ o

UHT, ZHIMITd Uedblgla, siuiudied, 2-sgeHid, 2- g, 2- s, 2- U=,
3-U=eHH, U=eHd Ud 3-U=CHid

Options :
3475772024.

(]

L

3475772025.

3475772026. 3

3475772027. 4

Question Number : 69 Question Id : 347577594 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the following reactions, which one is NOT correct?
Options :

'\ IC(I QFEt
EtOH
[:::::::I/ [::::::i]/
3475772028.

=Nc1”

[:::::]/ H,PO, / Hy0 [:::::]
Wit s e 5
3475772029,
N=NCI”
[::::::I/ CUCN /KON _ [::::j:]/
3475772030,

Potassium
TIodide
—_—

Question Number : 69 Question Id : 347577594 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

3475772031.



Correct Marks : 4 Wrong Marks : 1

fFaferad sifHicrarst § O sH-91 9gl 9el 82
Options :
‘iz NCl & QFt
EtOH
3475772028.
N=NCI®

H3PO, / H,0

3475772029.

N=NCI°
CuCN/EKCN

.~
-

r'1_|

3475772030.
=NCl

CN
N
O/ |
O
T

Question Number : 70 Question Id : 347577595 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the correct structure of L—Fructose?
Options :

@

3475772031

— OH
— 0
HO —
— OH
HO —
3475772032, —— OH

HO —

HO —
3475772033. — OH




—— ()
— OH
— OH
HO —
3475772034, — OH

HO —
HO —
HO —
3475772035. — OH

Question Number : 70 Question Id : 347577595 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FfIRad 5 9 $H-91 L-Whae i &1 ol g1 g2

Options :
— OH

— O
HO —
— OH

HO —
3475772032. —— OH

HO —

HO —
3475772033. — OH

— ()
—— OH
OH

HO —
3475772034. — OH




—— OH

—0

HO —

HO —

HO —
3475772035. —— OH

Chemistry Section B

Section Id : 34757748
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 34757748
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 347577596 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
Given :

i‘aHesub [C (graphite)] = 710 kJ mol ™!
Ac—pH® = 414 kT mol ™!
Apr-pHO = 436 kI mol ™!
Ac = cH® =611 kI mol ™!

The ﬂ.er' for CH, = CH; is kJ mol ™! (nearest integer value)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 71 Question Id : 347577596 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



ﬁmw%:

i\.Hesub [C (graphite)] = 710 kJ mol ™
&C_HHG =414 kI mol !
Apr-pHE =436 kI mol ™!
Ac = cH® =611 kI mol™!

CH,=CH, & [dU AH® kT mol ! B (Fibead qulids 91 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 72 Question Id : 347577597 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

The number of optical isomers exhibited by the iron complex (A) obtained from the following
reaction is

].:E"Ci?, + KOH + H2C204 — A
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 72 Question Id : 347577597 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

ﬁaﬁf@ﬂaﬁﬁ?ﬂ%mwmﬁﬁm}mmﬁhwmwaﬁfﬁ
Ranea| |

FeCi3 +KOH + H2C204 — A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 73 Question Id : 347577598 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



Consider the following reactions

A + NaCl+H,580, — CrO,Cl, +5Side Products
Little
amount

Cl’DzCiz CVBpOUI’} +NaOH — B + NHC!. + H‘)_D
B+H — C+H,0

The number of terminal O present in the compound ‘C” is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 73 Question Id : 347577598 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

FafRaa fyfrar R fdaR &3

A +NaCl+H,50, — CrO,Cl, + gg-3diq
SLEH
I_:I

CrO,Cl, gy + NaOH — B + NaCl + HyO
B 5 H_ — {:.' + Hzo

e ¢ ¥ JufRyd sa®y (2fifd) -0 & dwn gl
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 74 Question Id : 347577599 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
0.5 g of an organic compound on combustion gave 1.46 g of CO, and 0.9 g of H,O. The

percentage of carbon in the compound is . (Nearest integer)

[Given : Molar mass (in g mol ) C:12,H:1,0: 16]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 74 Question Id : 347577599 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Udh BIEHD TNTD & 0.5 g 7 G5 IR CO, D 1.46 g Td H,0 B 0.9 ¢ Taa1| TfiTd & dred
&1 ufaerd g I(FPpean o)

& TFJT%II ¢ ol HI ( gnmt_]ﬁ}C : 12, H:1.0: 16]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 75 Question Id : 347577600 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

During estimation of nitrogen by Dumas' method of compound X (0.42 g)

H
N

N
H
X

mL of N, gas will be liberated at STP. (nearest integer)

(Given molar mass in g mol!:C: 12 H:1,N: 14)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 75 Question Id : 347577600 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

IS X (0.42 g) b A e DI SLAT fafe d sTPWR mL N, 79 Fdad
oI

H
N

N
H
X

(fearmng: g mol! AR GAHN : C: 12, H: 1. N : 14)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



